PHI 2100, Formal Logic I

Test 2, Part II: Sentence Logic (75 of 150 points) 3/30/01
PLEASE WRITE LEGIBLY.

I. Use direct or indirect proof
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II. Use direct or indirect proof
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III. For the argument below, do either a proof of invalidity or a truth tree to test the argument for
the cons;stency/mconsxstency of its premises. State clearly in the second case whether the

premises are consistent or inconsistent. If you choose the proof of invalidity, provide an
“answer’ line showing the truth values of all the atomic sentences
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